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'COMMERCE
(Honours Core)
Paper : COM-HC-2016
{ Corporate Accounting )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the qguestions.

Answer either in English or in Assamese.

() Fill in the blanks with appropriate
words : 1x5=5
TS *F1cE AET A2 SjFe 1
(a) Right shares are generally issued

at a price __ than the market

price.

SRS SIR¥I2IE YIS TG SETOCT
vl fafer Q|

Contd.



(b)

)

(@)

(e)

The Companies Act, 2013 follows
format for preparation of
Final Account.

I SN2, 2059 2 pUlS 2517 2E®
FEICS wif2q SEpEd B | '
The issue of bonus shares must

be recommended by Board of
Directors and approved by the

@IS SieHoig RfFeae FeeTRs NS 2l
AFFONE: A e 23 w6 |

Preacquisition profits are
profits.

wfHazeE S5 &S e o |

The company into which another
company is amalgamated is called
company.

RBl reARE zere i @t sl
G =W, (R @A

(b)

(¢

(@)

1R I KB Rt o o B [ | R B
e AR ST SRR 2T |

At the time of valuation of goodwill,
only gross profit is considered.

HAE EHEE TS (&9 A) e
e 0 = |

Computer software is a non-
current asset.

Computer software 96l SHGETS
HNE |

AS-24 deals with ‘accounting for
amalgamation’ of companies.

AS-24 @ T @AM ool
F© Tow |

Buy back of shares doesnot affect
the authorised share capital of
company.

AW 5[ G T T (@A GO
SIS A I SR G |

e Rt =
) St&t: wheotilci_rlifée'fOHOWH’lg State?}(esrfg :_ 2. Answer the following questions : 2x5=10
L S O PR Tl [l ¢
oo Tramd I SfevE $E @ wgE o 8 : . :
R e Gapifal mus: | (a) Write the meaning of issue of bonus
| shares.
be sanctioned by National S Sesor R g B |
Company Law Board.
4 (Sem-2/CBCS) HC1(CAC)/G 3 Contd.
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(b) The Companies Act, 2013 follows
format for preparation of
Final Account.

AT SR, 2059 2 pUlE 257 29
FAICS wifEq SFPRe T |

(c) The issue of bonus shares must
be recommended by Board of
Directors and approved by the

@D SR*lE R F2ees TS 2l
sEiReee R SHElTe 29 #6[ |

(d) Preacquisition profits are
profits.
eIz S5 #lo A |

(e) The‘company into which another
company is amalgamated is called
company.

R @I e o @b @il
GTEII 2, IR @A

I PR =
(1) State whether the following statements
are true or false : 1x5=5

woTe Trad 91 SfeE $F (7 9w ol e
(@) Reduction in share capital must

be sanctioned by National
Company Law Board.

4 (Sem-2/CBCS) HC 1 (CAC)/G 2

O] e P A B G
wied 7/fFaME ST S S

(b) At the time of valuation of goodwill,
only gross profit is considered.
SRS R RS (96 YD TSR
ol 11 = |

(¢) Computer software is a non-
current asset.

Computer software bl SHIBETS
G|

(d) AS-24 deals with ‘accounting for
amalgamation’ of companies.

AS-24 @ CFARY @>HNE ZoivE
5O SIS |

(e) Buy back of shares doesnot affect
the authorised share capital of

company.
GXI9G 2JS T P TETS (I GBI
SEGITS TS (@I SO G |
2. Answer the following questions : 2x5=10
O] ST e el ¢
(@) Write the meaning of issue of bonus
shares.
R@AIE Siisfa Rferees ol o1
4 (Sem-2/CBCS) HC 1(CAC)/G 3 Contd.



(b) State two objectives of-amalgamation

of companies.
AR R 70 So |

(c) What is internal reconstruction ?
SRS e 52

(d) What do you mean by ‘holding
company’ ?
4T =i 3ferce 15 el 2

(e) Mention the names of various methods

of valuation of equity shares.
TN Sigaisg TR [eT AR T
T 41 |

8. Answer any four of the following :

oS TAIERE <1 Rzt bifee/T el il 8

(@) Mention five conditions to be followed

for buy back of shares.

<¥19[g 27 T A1 RGETE A0 56 S
= |

4 (Sem-2/CBCS) HC 1(CAC)/G 4

Or / 99
Sunrise Ltd. has issued and paid VPR
capital of ¥8,00,000 divided into equity
shares of 210 each. The balance in the
securities premium account was
21,40,000 and general reserve ¥80,000.

- The company decided to buy back 20%
of its share capital from its shareholders

at 28 per share.

Pass journal entries in the books of

Sunrise Ltd. to record the above

transactions.

Sunrise Ltd. © 8,00,000 5% REFe o=

SWFFS TEL SOl 10 5 R AN
P St F (FR| IHAE iNgs Biee
1,40,000 Bl O AR FeA offere =g
80,000 B3| @AM 20% T Te,
AfOTH! Sigiolg 8 Tl T 7Rl SR DS
|

99[® GIHRY (=S I3 Sunrise Lid.
3 9re GiEm ety ma

(b) Explain the following
wore iR il A4 e
(i) Deferred tax liability
Reio (=

4 (Sem-2/CBCS) HC 1(CAC)/G ~ 5 Contd.



(b) State two objectives of-amalgamation

(c)

(c)

of companies.

QAT FERR 75 Boay Bl
What is internal reconstruction ?
SISl AT 52

What do you mean by ‘holding
company’ ?

45 IR e e
Mention the names of various methods

of valuation of equity shares.
T Sigelotg iR RISH AR T
T 4 |

Answer any four of the following :

(a)

5x4=20

TS TRIERS #[1 fAgeeal Bif96iT Ol ol 8

Mention five conditions to be followed
for buy back of shares.

<¥le1g 2 e i SRRETTL S50/ 56 S
3=

4(Sem-2/CBCS)HC 1(CAC)/G 4

1
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Oor /agq °

Sunrise Ltd. has issued and paid up
capital of ¥8,00,000 divided into equity
shares of 10 each. The balance in the
securities premium account was
%1,40,000 and general reserve 280,000.

- The company decided to buy back 20%

of its share capital from its shareholders

at ¥8 per share.

Pass journal entries in the books of
Sunrise Ltd. to record the above
transactions.

Sunrise Ltd. ® 8,00,000 &R {fge o=
MRS e &fSCo! 10 5l SEUR i
XS ©ls T (= THPE SREN Bhiee
1,40,000 B Wi AR Fwea Afere wim
80,000 B | RI™AMIE 20% ¥ SEH,
2fSCB! SigHiolg 8 TR e ArReEd FRACS Pals
|
39S GRS (RTINS AR Sunrise Lid.
3 32 Tl =Rk
Explain the following :
oo TR I 4 ¢
(i) Deferred tax liability

REfEe @l

5 : Contd.



()

(d)

(e)

(i) Corporate dividend tax
o ETesise -
Show journal entries in the books of

transferee company when amalgamation
is in the nature of purchase.

T AFio7 GRAIFIIR FAIT 4Ol @IS
IR i 2Rk | i,

Explain briefly the need for preparation
of consolidated Balance Sheet.

AP Hfery owe [ LTS S
IR0} <54 |

The following 1nformat10n are taken
from Visual Co. Ltd.

SRS $UPRZ Visual Co. Ltd. 9329 Al
T4 €T 8
(i) Capital :
900 6% preference shares of 2100
each fully paid.

9000 equity shares of 210 each
fully paid.

BGECHE:
900 6% SEIHFTE SHT zrﬁﬁi
100 Gl St Fwjefes oifRreiifes |
9000 X JHI#iq AfOTo! 10 Gl 09
Tjefsest AAReifEe |

4 (Sem-2/CBCS) HC 1 (CAC)/G 6

—y

(1) External liabilities 215,000
JfEl 15,000 53

(iii) Other equity ¥3,000
S A 3,000 G

(iv) The average profit (after taxation)
earned every year is 210,500.
&if© T=(1 90T e 91F FE 10,500 5/
(9 ™M)

Calculate the value of each lequity
share.

oS I SR*sIGE TE sl |

Arohan Ltd. decided on 30.03.2023 to

convert its 80,000 fully paid equity

shares of 210 each into ¥7 per share

fully paid up and to return ¥3 per share
to equity shareholders.

Pass necessary journal entries in the
books of Arohan Ltd.

Arohan Ltd. I 30.03.2023 iRty @f®
S#{old B T 80,000 i AR RS Tz
wgeAg efs 7 T Toue el sAfReeifEe
SRH]EeT ARRS S i o Wik (R e
A 3 Bl AT T Co01R (0T |
Arohan Ltd. ¥ 92 &icwl &R i

4 (Sem-2/CBCS) HC 1 (CAC)/G 7 Contd.



()

(d)

(e)

(1) Corporate dividend tax
el siegise -
Show journal entries in the books of

transferee company when amalgamation
is in the nature of purchase.

@Y APied GRAITIT BAS A2l (FI=HATE
32 i @RS -

Explain briefly the need for preparation
of consolidated Balance Sheet.

GFaIpe Zferlg ewe 99 dEISHRe! P
TR 0|

The following information” are taken
from Visual Co. Ltd. : '

[FfEiR® ©UPTZ Visual Co. Ltd. I321 74l
IR (2R ¢
(i) Capital :
900 6% preference shares of T100
each fully paid.

9000 equity shares of 210 each
fully paid.

T .
900 6% SHRIEFRTE THAT &lfSC!
100 Bl o9 T=vjefeel sifReeifae |

9000 FIeH SiHiofg &forht 10 Bl JeTs
sTsefRTe SRS |

4 (Sem-2/CBCS) HC 1 (CAC)/G 6

(1) External liabilities 215,000
Rl 15,000 5

(i) Other equity 33,000
Sl A 3,000 G

(iv) The average profit (after taxation)
earned every year is 210,500.

o q=(F 5ITT A ¥ FE 10,500 T/
(39 M)

Calculate the value of each 'equity
share.

oS ITigH SiR*isiEas T5 ot 0|

Arohan Ltd. decided on 30.03.2023 to

convert its 80,000 fully paid equity

shares of 210 each into ¥7 per share

fully paid up and to return 23 per share
to equity shareholders.

Pass necessary journal entries in the
books of Arohan Ltd.

Arohan Ltd. & 30.03.2023 Sifftd df®
w[s{o1 56l T 80,000 F~ie #{fRrsiifes sz
wexiolg @fo 7 B ema el AR
SiRxiiaCe SRS T9F Praie 71 =i @ afe
SIHAGE 3 Bl ALK FEeTT GwoiR (0 |
Arohan Ltd. 3 33 Gi@m «R@ |
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4.

Answer the following questions : {any four)

10x4=40

afRe e Tes fordl ¢ (e B1feb1a)

(@)

)

(©

What is goodwill ? Explain the various
methods of valuation of goodwill.
2+8=10

SEI 2 I e [ien Aoz

<4 | :

Write four conditions for effecting
capital reduction. Explain the complete
procedure to be followed for capital
reduction. 4+6=10

Sige] eTee QEREET BIIR0! B foTil | Skl T

25 91 A SRRl =2yel elfemat i 31 |

The following ledger balances are
extracted from the books of Divine Ltd.

on 31.03.2023 :
Divine Ltd. ¥ 31.03.2023 SIf¥¥e w&7e 3l

Aoz TgeTE @Il 2z 8
Particulars R&adi : | Amount @)

' sffsie (1)
20,000 equity shares of 2100 each 20,00,000
gferore 100 5@ 20,000 T G
Sundry Creditors 7,20,000
fafkd e .

4 (Sem-z/CBcS] HC 1 {CAC}[G 8

Particulars <=4t Amount ()

AR (G)
Bank Loan 4,00,000
@9 49
Proposed Dividend 1,00,000
ke wel _
10% Debentures 8,00,000
10% Ao |
General Reserve 2,80,000
igiel ffer
Securities Premium Reserve 1,00,000
Surplus in Statement of Profit & Loss
on 31.03.2023 4,00,000
31.03.2023 wf¥e® we-GirmR ffes 3R |
Livestock 3,00,000
G Pl
Land and Building - 10,80,000
PR SR
Cash in Hand 1,00,000
S Gl
Cash at Bank 2,00,000
(@S Gl
Stock in Trade - 4,20,000
TG A
Furniture 6,00,000
N\ BIES

Contd.
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Particulars <&l Amount (3)
AR (G

Plant and Machinery 10,00,000

Gl 9% 3@ifo

Sundry Debitors 8,80,000

fiRe oAmE

Prepaid Expenses 20,000

el &g 4T

Long Term Investments 2,00,000

el R -

(@)

You are required to prepare a Balance
Sheet of the company as per schedule

- III of the Companies Act, 2013.

2013 59 (PI2{lel B2 b1 111 Spifs G2
Yge f&fora g |

Sailash Ltd. and Kailash Ltd. decided

- to amalgamate and a new company SK

Ltd. is formed to take .over both the
companies as on 31st March, 2023.
The following are the Balance Sheets
as on that date :

Sailash Ltd. 9% Kailash Ltd. (3 434 <<e]
I P71 =T i Healh! oI wifdisres i
T 31.03.2023 IR <GB o or=air)
SK Ltd. %07 3| G2 fiea v i
56 7 ST {3l 49 ¢

4 (Sem-2/CBCS) HC 1 (CAC)/G 10

Particulars @At

Amount 4R @) &l

Sailash Ltd.

Kailash Ltd.

A G (IR

I. Equity and Liabilities

1. Shareholder’s Fund
HHRE T e
(a) Share Capital
Eiaiatn
Equity shares of 210 each
fully paid
gfetdl 10 GRS I A
(b) Reserve and Surplus
o A% e 3R
Reserve Fund
e A
- Dividend Equalisation Fund
Workman Compensation Fund
dficq Ffod 4@
Surplus in the Statement of
Profit & Loss
Ao-(EAienR g o dfR
9. Non-current Liabilities
TS (el
10% Debenture

10,00,000

4,00,000

40,000

60,000

10% 3179

4 (Sem-2/CBCS) HC 1 (CAC)/G 11

6,00,000°

3,00,000

2,00,000

1,00,000

1,00,000

Contd.



Particulars &1

Amount I ) &

Sailash Ltd.

3. Current Liabilities
o (@l
Trade Payables :
IR & §
Sundry Creditors
R4 et
Bills Payable
ol el
Total 5{3
IL. Assets T™ig
1. Non-current Assets
TS FoAfe
(a) Property & Equipment
e o 7
{b) Goodwill ¥
(c) Other Intangible Assets
R G TG
Patent & Trade mark
2. Current Assets
58 A6
(e) Invc-ntory'

7

4 (Sem-2/CBCS) HC 1 (CAC)/G 12

2,00,000

1,00,000

2,40,000

60,000

Kailash Ltd.

18,00,000

16,00,000

Particulars <41

Amount 7R3 )

: Sailash Ltd. |Kailash Ltd.
(b) Trade Receivables : '

FIRE e 3

Debtors (R 2,00,000 | 1,00,000

Bills Receivable @ e -~ 40,000
(c) Cash & Cash Equivalents 1,00,000 | 9,000

Tl W% TR T

Totel T | 18,00,000 | 16,00,000

9,00,000

2,00,000

4,00,000

8,90,000

1,60,000

1,05,000

3,00,000

)

Calculate the purchase consideration
of both the companies and prepare the

amalgamated Balance Sheet of SK Ltd.

assuming the amalgamation is in the

nature of purchase.

D! (P @ elfonig wARwe st <=
Tl @ ¥pfey GRare 4t SK Ltd. I

IR ATO] TRE o oS 3 |

The following are the Balance Sheets
of ‘Himesh Ltd.” and its subsidiary co.
‘Shekhar Ltd.” as on 31st March, 2023 :

‘Himesh Ltd.” 9% < ©f&% . ‘Shekhar
Ltd.” 31.03.2023 SiR<3 Tge 1 wsre fral
G

4 (Sem-2/CBCS) HC 1 (CAC)/G 13 Contd.



Balance Sheets T%@ %

Particulars

Amount #fTd (3) Bl

Sailash Ltd.

Kailash Ltd.

I. Equity and Liabilities
N Flse (R
1. Shareholder’s Fund
THIEE G
(a) Share Capital
oK T
gglclé‘ty Shares of 10 each
oGl 10 B0 A i
(b) Reserve and Surplus
A% G R JR
Surplus in the Statement of
Profit & Loss
eI figfo o d
2. Current Liabilities
beTS (7.
Trade Payables :
TR &0 ¢
Sundry Creditors
Rk AlGmrs

1,20,000

10,000

34,000

40,000

8,000

12,000

Total 31?3

1,64,000

60,000

1. Assets F™f@ \

1. Non-current Assets
© e
Plant, Property and Equipment

1,36,000

2. Non-current Investment
e GIR(ERG
3200 Shares in Shekhar Ltd.
Shekhar Ltd. § 3200 9o

28,000

60,000

Total ?]?

1,64,000

60,000

4 (Sem-2/CBCS) HC 1 (CAC)/G 14

— —

The shares were acquired by Himesh
Ltd. on 1st October, 2022. Prepare the
consolidated Balance Sheet of Himesh
Ltd. and Shekhar Ltd. as on 31.03.2023

and show necessary workings.

01.10.2022 Si¥¥® Himesh Ltd. &
Shekhar Ltd. I Sigd7@ W@z IS |
31.03.2023 Siffds dhaige Zfeoig e =1
[ S90S SRR ol FRI Y|

Coal India Ltd. resolved to utilise
22,50,000 of its General Reserve
Balance to declare a bonus to
shareholders by paying the final call of
%2.50 per share on. 1,00,000 equity
shares of 210 each. The company
further decided to utilise the balance
of Securities Premium Reserve Account
of $2,00,000 by issuing fully paid up

bonus shares.

Pass journal entries in the books of
the company and also show the ratio

of bonus issue.

4 (Sem-2/CBCS) HC 1(CAC)/G 15 Contd.



Coal India Ltd. @ pYi% So<® SHWE (2
5] efSthl ==/ 2.50 it 10 SR
1,00,000 Bf S5 3794 SIMiziFe f2517® Figiaet
e’ #i¥1 2,50,000 51 IR TR A S
o1 SIRCE | TS GIHATICOIE SKH7g TR

=512/ #41 2,00,000 B 7)< SRS A5
o [ifel wisee |
AT 21 S R 7@ =k 5 S
fRfeT Seii® T 1 |
(g) - What is right share ? Explain the
advantages of right issue. 4+6=10
Wﬁ@ﬁ‘{[@ oies 52 @TW SR ﬁi%a
FREITIR 1 B |
_(h) Write notes on : 5+5=10
53 COiA foralf 3
() Amalgamation in the nature of
merger
sifsERel ﬁifr_ﬁ GRatoat)
(i) Different forms of internal
reconstruction
SIS <7 o079 Rifem erpm

4 (Sem-2/CBCS) HC 1 (CAC)/G 16 10000



Total number of printed bages—ll
4 (Sem-2/CBCS) HC2 (CL)
2023
COMMERCE
(Honours Core)
Paper : COM-HC-2026
( Corporate Laws)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

31T FAA SR Geq e/

1. Choose the correct answer for the following
questions : 1x10=10

UG (723 i 5| S RO e (A RS | DR G e

(@) The minimum number of members in
a private company is

9B FfGTS @ARNIS TR T AL
i 2/3
(i) 4/8
(i) 6)v

e
(e Gontd



(b)

(c)

Which one of the following documents
is required to be filed with the Registrar
of Companies at the time of
incorporation of a public company ?
ISR @] GBI e AEe Fese
PHRA F1 (FIE AGIEPS G5 ifRe T84
TIC ?

(i) Articles of Association

e IR

(ii) Memorandum of Association
A

(iii) Prospectus
SR

(iv) All of the above
@oRY AR

The maximum number of companies

in which a person may hold the office
of director at the same time is

GG S AT FAICO AL (2bicel PR
SR 210 AR A AL

i) 8/v

i) 10/s0

(i) 15/5¢

(iv) 20/30

4 (Sem-2/CBCS) HC2 (CL)/G 2

(@)

(e)

The remuneration of first auditor of a

company is fixed by the _
GBI IR AL o1 S SliRefe
=9 o= :
(i) Board of Directors

HLEIETS 2RI

(ii) Managiﬁg Director
RO ARETS

(iii) Company Secretary
AR D

(iv) All of the above
S AFCETNEE

In which year was ‘The Depository Act’
passed ?

i 5o Too! B iz et T et ?
(i) 1966/550Y
(i) 1976/35q%
(iii) 1986/>5Y
(iv) 1996/55dY

4 (Sem-2/CBCSJ HC2 (CL)/G 3 Contd.



() A Director cannot be reappointed.

GO ALETET A1 e 3 @RIE |

(N Conrect
G

(i) Incorrect
il

(g) The office of the Registrar of Companies
is not a public office.

@IHARTPTRS AIGEeT PR 6l IS

ST T2 |
i) (e
S
(i) Incorrect
O[Ex

(h) A person can incorporate only one ‘One
Person Company’.
o e A <GBl ‘GG AL
Forraeae ST A |

(i) Correct
G
(i) Incorrect

O[E=

4 (Sem-2/CBCS) HC2 (CL)/G

4

N

(i) Articles of Association can be altered
by passing a special resolution.

RO B9 &i2el SR SNeRIe HasRe ARaes
FfRa AR |

(i) Correct
k1T

(ii)) Incorrect

O

(i) Dividend cannot be paid out of capital.

TR S TN e IR @RIE )
(i) Correct .

)T
(ii) Incorrect

IR

2. Answer the following questions : 2x5=10
e ez Oed fordl ¢

(aq) Write the names of four statutory
companies.

sifsr Rt AR S e

4 (Sem-2/CBCS)HC2 (CL)/G S Contd.



(bp) What is prospectus ?
SERINAE T @IET?
(c). Write two differences between

Memorandum of Association and
Articles of Association.

SRR S OISRl FENRETR SEs 75!
Aty ol |

(d) What is special resolution ?
R &8k T @2 |

(e) Who can be appointed as auditor of a
company ?
@i O Rbi7 AT fisttvf T e
3 A2

3. Answer the following questions in about
200 words each : (any four) 5x4=20

2fS! 200 FAF WS [CoI© FLHe ey Tes
Tl 8 (Rl BIo1)

(a) Write the differences between private
company and.public company.

IS @ O IE AN qew
Al AL il |

4 (Sem-2/CBCS) HC2 (CL)/G 6

e

(b) Write the differences between transfer
and transmission of shares.

G T I S (@O MEre A
sAFE =i

(c) Briefly state the main prdvisions
regarding the annual general meeting
of a company.

@ GO AT AR el TR 2y

RUYPTR B 9 4 |
(d) Briefly state the various types of
dividend.
fifen ooR oy KEw o a6l =11 |
(e) Briefly state the advantages of
depository.
ot bR SFREPTIE B I |

() Explain the features of depository
. system. Also- write the names of two
depositories functioning in India.

4 (Sem-2/CBCS) HC2 (CL)/G 7/ ' Contd.



oo BT ez WHEFE TI01 T4 | TS \

(b) Discuss the procedures of alteration of

Sl e TR BE 2ot oot o ROI§ < (i) Name clause, and (i) Object clause
foran of Memorandum of Association.
7+3=10
4. Answer the following questions in about | PR (1) T Wﬂ i (i) SR WS
600 words each : 10x4=40 | SR RN INR ST 5 |
ARSTH! 24F Ted Yoo I *F [Sos MR xRS i .
} OR [/ 9«1
Ted el ¢ |
. | i i ? State
(@) What is company ? State the | What 1.s forfeiture of .shares State the
A : procedures of forfeiture of shares. Also
characteristics of a company. _
state the effects of forfeiture of shares.
2+8=10 & : :
2+4+4=10
@) S @2 (=it GO [TREFE . ‘ |
2t 7| - T QCERNEFIT BIF (ST 2 BR*E

AEAEFET PR PR I T4 F6e

OR / @241 o AERILTT SARCEPRR A

State the various stages involved in the

‘[ (c) What is the meaning of ‘Director’ and .
process of formation of a company. l

‘Board of Directors’? Discuss the

10 : different types of director of a company

@ B S0 2fraE e Sive ﬁ]’%ﬁ{ \| on the basis of provisions of the

SR W *i Companies Act, 2013. 2+8=10
1



AT A Wz Roieaios a@ & sk

TR S TS ARErd 9 52 2050 \
B RPN S R eviss o <R PR ST €51 I SR R AR e
@ o [fen eeEs TwERs [RI@

SCAb 41|
| OR | 23!
State the functions of the different

committees required to be formed by

the Board of Directors of a company.
10

AT BRI AR SN SR
ffen Aoz PrEEITRE 3969 4 |

(d) What is dividend ? State the statutory | .

provisions relating to declaration of \
dividend by a company. 2+8=10
TSI I (QICET 2 R O FTeTIRH (AR
g R SEREINAl SiZwe [UPRR 96!
<4l

OR [ @141

State the circumstancés under which
a company may be wound up by the

National Company Law Tribunal.
10
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